Division par Puissances de Dix (I)

16 = 1071

55 = 1072

66 +~ 1072

32+1073

19 = 1072

9+10"=

46 ~ 1073

65 =~ 1072

14 + 1072

53 = 1072

Trouvez chaque quotient.

94 +~107% =

99 + 1073 =

2+107"%=

75 +107" =

100 + 1073 =

19 -107% =

52+ 1073 =

76 +~107% =

19 +1073 =

6+10"1=
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Division par Puissances de Dix (I) Solutions

16 + 1071 =160

55+ 1072=5500

66 +~ 1072 =6 600

32 +107°=32000

19 +1072=1900

9+10"1=90

46 + 1073 =46 000

65+ 1072 =6500

14 +107% =1 400

53 +1072=5300

Trouvez chaque quotient.

94 +~ 107> =9400

99 + 1073 =99 000

2+107%=200

75 +-10"1 =750

100 = 1073 =100 000

19 +1072=1900

52 +107°=52000

76 +~ 1072 =7 600

19 +1073 =19 000

6+10"'=60
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